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rgb*e and CIE data of a elementary hue circle according to CIE R1-47 foDstwaldcolours

rgb*eand CIE data of a elementary hue circle according to CIE R1-47

TO
g o XYZ, xy, YAB,and Lab* data for relative spacing of elementary hudg, of CIELAB, Yiy=100,Yy=0 XYZ, xy, YAB,and Lab* data for relative spacing of elementary hudg, of CIELAB, Yy,=88,6,Yx=0 g
S ® |16 step elementary hue circle with intended elementary huety, = 25.4, 923, 162.2, 271.7 of CIELAB 16 step elementary hue circle with intended elementary huebz, = 25.4, 92.3, 162.2, 2717 of CIELAB 3
3.0 Y oz ox y B G ha L' a b Cra hay rgb->rgb% Y oz ox y B Ge ha L* & b* Clg hy rgb->rgbe| o
83 |Rooy=R 660 411 209 05150321 269 95 285 195 703 709 334 W@ 100000040  [ROOY=R 590 37.7 19.9 0.505 0323 23.1 84 246 201 678 651 310 ZE¥ 100000040
5 |Re5Y 640 415 64 05710371 245 155 290 323 705 651 714 956 1000250d0 |R25Y 571 381 76 0554037 208 135 248 329 681 593 623 8HM 100025040
52 [R50y 626 417 10 0593039 228 177 289 378 707 612 1063 EIOY 100050040 [RSOY 562 390 2.4 05750399 192 160 250 398 687 545 896 EB® 100050000 3
3 R75Y 711 587 0.1 0546 0451 153 255 29.7 59.0 81.1 352 137.3 F&l67 1.000.750.Q0 R75Y 645 558 2.6 0524 0453 115 232 259 63.6 795 275 1069M1000750 0 n
= YO0G=Y 76.8 839 13 04730517 -29 36.0 36.1 947 934 -59 141.9 BRI 1.001.000.Q0 YO00G=Y 68.3 743 3.5 0.467 0.508 -2.3 30.9 31 .2 89.1 B 1.001.00 0.0
33 |rsC eso w6 67 0o 055 -lo2de3 411 117898 30411361003 075100000  |Y295 595 708 52 0404053 -160315 B3 1bosis 735 1 101 39060 073100040 O
@ |¥50G 437 796 81 03320605 -31.93L4 447 1354915 —77.31012 1273050100000 |Y50G 409 714 9.3 03360587 -26927.3 38.4 1345876 1978 050100000 ¢
9_)':: Y75G 26.4 67.7 12.4 0.247 0.635 -38.0 245 452 147.1859 -113.078.6 13%.1 0.251.000.Q0 Y75G 253 61.0 12.8 0.254 0.615 -32.721.4 39.1 146.7 82.4 7102515 125.0 0.251.000.00 <
a‘c GO00B=G 21.8 618 31.6 0.159 0.536 -36.9 14.2 395 158.8 82.8 -119.5837.9 .3 0.00 1.00 0.90 GO00B=G 20.9 55.5 29.7 0.197 0.522 -31.812.2 34.1 158.9 79.3 -108. 5 16223 0.001.000.0 Q
ST |e2B 278 589 815 01 -281-69 289 1939812 -86.9-139 8891000100040 |G25B 261 530 725 01720349 -242-50 249 1937779 -79.6-127 38&1 0.001.00040 =
S [Gi0 550 04 i0n70140 05%0 75 557708 5338751 613 4617080 000100100 |GhoD 244 418 db3 015 037 163 202554 2356707 sa1 453 15 000100140 S
:2 G75B 20.2 29.3 108.40.128 0.185 -7.6 -30.6 31.5 256.0 61.0 -33.4 -66.8 2434 0.00 0.50 1.0 G75B 196 27.8 959 0.137 0.193 -6.7 -26.227.1 2555 59.7 -30.5-61.1 @834 0.000.501.00 =,
o BOOR=B 18.4 18.7 107.70.127 0.129 0.6 -34.9349 2710504 3.3 -84.8 @432 0.000.00 1.90 BOOR=B 18.0 18.3 954 0.136 0.139 0.5 -30.130.1 271.0499 30 -77.6 2722000000190 O
S8 [B2sR 180 88 105201360067 95 -38.2394 2840357 642 -103580.5 050000140 [BZSR 176 93 928 0.147 0077 87 -33.0342 2848366 584 -989 HDOE 050000140 3
ST [BSOR  6L7 263 99.4 0320014 367 -28.3463 3223 583 1125 658 £30.8 1.000.001.40 |BSOR 557 251 881 0329 0.148 318 -24.240.0 3226 57.2 102.8 -60.1 329.6 1.00 0.00 1.40
g'_‘ B75R 71.2 406 51.0 0.437 0.249 325 -26 32.6 3552 69.9 836 -7.1 &&S.1 1.000.000.50 B75R 635 37.3 46.1 0432 0.253 28.0 -2.1 28.1 3555675 77.2 -6.2 BEB.4 1.000.00 0.50 %
o & a
& |5 step equidistant grey scale with intended lightnest* = 0.0, 25.0, 50.0, 75.0, 100.0 , 23,8, 47.7,71.5, 95.4 3
E JOOW: 00 00 03110327 00 00 00 7100 00 00 00 0.0 0.000.000. 00 00 7100 00 0.0 00 0.0 0.000.000.0f g
é-: I025W 4 48 03120329 0.0 00 00 77250 00 00 0.0 0.0 0.250.250. 00 00 34288 00 00 00 0.0 0250250.2p (%)
ga  |nosow 175 184 700 0312030 00 00 00 530 00 00 00 00 0500500 00 00 3327 00 00 00 00 05005005 &
R @ |norsw 458 482 525 03120320 00 00 00 2350 00 00 00 00 0750750 00 00 32945 00 00 00 00 075075075
5) N100W=W95.0 100.0 108.80.312 0.329 0.0 0.0 0.0 0.Qa00000 00 00 0.0 1.001.001. )W=V\84.2 6 964 03120329 0.0 00 00 32854 00 0.0 00 00 1.001.001.0f 3
a M “Aepeo-an AEPGI-3N @
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o B g
= % 1gb*e and CIE data of a elementary hue circle according to CIE R1-47 foDstwaldcolours rgb*eand CIE data of a elementary hue circle according to CIE R1-47 =3
5 & [XY2. YABandLab* data for relative spacing of elementary huta, f CIELAB, Yyi=100,Yy=25 XYZ, xy, YAB,and Lab* data for relative spacing of elementary hui, of CIELAB, Yyy=88,6,Y\=2,5
2 ¢ 16 step elementary hue circle with intended elementary huebzy = 25.4, 92.3, 162.2, 2717 of CIELAB 16 step elementary hue circle with intended elementary huebzy = 25.4, 92.3, 162.2, 2717 of CIELAB 2
éi X Y Z x y A B G ha L* a b Coap hg rgb—>rgbte X Y Z x y A B G ha L* a b Ctap hgp rgb-—>rgbte 3
ROOY-R 60 411 209 0515021 269 95 288 198 703 709 334 TWE 10000000 |ROOV-R 590 377 199 05050320 231 B4 246 201 678 €81 30 TEM 100000040 <
FZ R25Y 640 415 6.4 05710371 245 155 200 323 705 651 7.4 0 |R25Y 571 381 76 0554037 208 135 248 32.0 681 593 623 8%l 0 o
N R50Y 626 417 10 0593 0.396 228 17.7 289 37.8 70.7 61.2 106. 3 l UU D.SD 0. 0 R50Y 56.2 39.0 24 05750.399 19.2 16.0 25.0 39.8 68.7 545 89.6 EREB UU D.SD 0. 0 =
] R75Y 711 587 0.1 05460451 153 255 20.7 500 BL1 352 1373 TAl& 100075040 |R75Y 645 558 266 0524 0.453 1L5 232 259 636 795 27.8 1069 ZBMG 100075040 T
2 Yo0G=Y 768 839 13 04750517 -29 360 31 647 034 59 1413 BRY 1001000d0  (Y00G=y 683 743 35 0do7 0508 23 309 310 942 sol 4o ii7ime 100100040 .
Y256 659 896 6.7 04060552 102363 411 1178958 -39.4 1136 1203 0.751.000.40 |Y256 = 59.9 798 82 0404 0.539 -160315 353 1169 916 351011 1080 0.75 1.00 0.40
- Y50G 437 796 8.1 0.3320.605 -31.931.4 447 1354915 -77.3 101.2 127.3 0.50 1.00 0.0 Y50G 409 714 93 0.336 0.587 -26.927.3 38.4 134.587.6 -69.490.5 1PA¥ 0.501.000.40 —*
> Y75G 26.4 67.7 12.4 0.247 0.6 .0 24.5 2 147.1 859 -113.078.6 138.1 0.251.000.00 Y75G 253 610 12.8 0.254 0.615 -32.7 21.4 39.1 146.7 824 -102.571.5 1a5.0 0.251.000.00 Q
Q GOOB=G 218 618 316 0.189 0536 -36.9 142 395 1568 828 -119.537.0 183.3 000100040 |GOOB=G 20.9 555 20.7 0107 0522 -318 122 341 1569 793 -108.6345 162.30.00100040 &
X G25B 278 589 BL5 0.1650349 -28.1-69 289 1039 812 -86.0-139 3891000100040 |G25B  26.1 530 725 01720349 242 -59 249 1037779 -79.6-12.7 88%10.00100030 T
m G508 25.6 454 108.70.142 0.252 -17.5-23.7 29.5 2335 73.1 -61.3 -46.1 2669 0.00 1.00 1.0 G508 244 418 96.2 0.15 0.257 -15.3 -20.225.4 232.8 70.7 -56.1 -42.3 2089 0.001.001.90 C
o G758 20.2 29.3 108.40.128 0.185 -7.6 -30.6 31.5 256.0 61.0 -33.4 -66.8 243.4 0.00 0.50 1.0 G758 196 27.8 959 0.137 0.193 -6.7 2271 255559.7 -30.5-61.1@334 0.000.501.00 -+
BOOR=8 184 187 107.70.127 0.129 0.6 ~-34.9349 2710504 3.3 -84.82792000000140 |BOOR=B 180 183 954 01360139 05 -30130.1 2710499 30 -77.6 222 0.000.001.40
3 B2SR 180 88 10520136 0.067 95 -38.2304 2840357 642 10858265 050000140 |B25R ~ 17.6 9.3 028 0147 0.077 8.7 -330342 2848366 58.4 -98.9 EDAS 0.500.00 1.00
Q BSOR 617 263 29 0. 36.7 -28.346.3 322.3 58.3 1125 -65.8 339.8 1.00 0.00 1.0 B50R 557 25.1 88.1 0.329 0.148 31.8 -24.240.0 322.6 57.2 102.8 -60.1 329.6 1.00 0.00 1.0
=, B75R 71.2 406 51.0 0.437 0.249 325 -2.6 32.6 355.269.9 83.6 -7.1 &%S.1 1.000.000.50 B75R 63.5 37.3 46.1 0.432 0.253 28.0 -2.1 28.1 355.567.5 77.2 -6.2 BEB.4 1.000.00 0.50
=
5 step equidistant grey scale with intended lightnes* = 18.0, 38.5, 59.0, 79.5, 100.0 5 step equidistant grey scale with intended lightnes* = 18.0, 37.3, 56.7, 76.0, 95.4
NOOOW=N2.3 25 27 03120320 00 00 00 79880 00 00 00 00 000000000  |NOOOW=N2.3 25 27 03120329 00 00 00 35180 0.0 00 00 00 00000000)
25W 98 103 112 03120329 00 00 00 693500 00 00 00 025025025 |NOZSW 9.2 9.7 105 03120328 00 00 00 333B3 00 00 00 00 02502502
NOSOW 256 270 294 03120320 00 00 00 4350 00 00 00 00 050050050  [NOSOW 23.4 246 268 03120329 00 00 00 33647 0.0 00 00 00 05005005
NO75W 53.0 558 60.7 0.3120.329 00 00 0.0 1725 00 00 00 0.0 0.750.750.7p NO75W 475 499 544 03120.329 00 00 0.0 329820 0.0 00 00 0.0 0.750.750.7p
NI0OW-V65.0 100.0 108.80312 0329 00 00 00 0000000 00 00 00 100100100  |NIOOW-V842 886 964 03120329 00 00 00 32054 0.0 00 00 00 10010010
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TUB-test chart AEP8Dstwaldoptimal and elementary colours (e)

input: rgb/cnp]yo (No 1MR)

Sd'/ 1X1 TN019d3V/9d3V-T0600202 :Uone.

9p0d :[eualew gnL

Y=

CIE data and of the hue circle as ta¥jjg=100 & 88,6,Yn=0 & 2,5
i v 3

output: no change
T




